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QUESTION 1

Click the Exhibit button. 

BGP routes received on R5 are redistributed into the IS-IS network. You want the redistributed routes to be present in
Area 49.0001. 

Referring to the exhibit, how would this task be accomplished? 

A. Configure the set protocols isis ignore-attached-bit parameter on router R5. 

B. Configure the set protocols isis ignore-attached-bit parameter on routers R3 and R4. 

C. Configure the set protocols isis level 2 wide-metrics-only parameter on routers R3 and R4. 

D. Configure the set protocols isis level 1 wide-metrics-only parameter on router R5. 

Correct Answer: D 

 

QUESTION 2

Click the Exhibit button. 
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Which two statements are true regarding the output shown in the exhibit? (Choose two.) 

A. Both ESIs are generated from the router ID. 

B. Both ESIs use the same VNI. 

C. The ESI 05:00:00:fe:4d:00:00:56:0e:00 is an auto-generated ESI. 

D. The ESI 00:24:24:24:24:24:24:24:24:24 is an auto-generated ESI. 

Correct Answer: BC 

 

QUESTION 3

You are asked to deploy VPLS in your network as a new service for several customers, and you must identify the
configuration and provisioning requirements for your customers. Which two statements are correct in this scenario?
(Choose two.) 

A. CE interfaces facing the service prowler must be Ethernet interfaces. 

B. VLAN IDs defined on CE interfaces must be the same on both ends unless otherwise negotiated. 

C. CE interfaces facing the service provider must be Layer 3 interfaces. 

D. PE interfaces facing the core must have VPLS encapsulation enabled. 

Correct Answer: AB 

 

QUESTION 4

Click the Exhibit button. 
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R5 must advertise Subnet A into IS-IS so that Subnet A and Subnet B can communicate. Subnet B must be able to
forward traffic to Subnet A and towards Area 49.0001. However, R5 should not be able to route traffic from Subnet A to
Area 49.0001. 

Referring to the exhibit, how would you solve this problem? 

A. Configure Level 2 on all links in Area 49.0002. 

B. Configure the set protocols isis ignore-attached-bit parameter on R5. 

C. Configure the set protocols isis overload parameter on R6. 

D. Configure an export policy on R6 to reject all routes except Subnet B towards R5. 

Correct Answer: B 

 

QUESTION 5

Click the Exhibit button. 
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Referring to the exhibit, you want to ensure that routers in Area 20 can connect to routers in Area 0. 

Which two steps must be done to allow this behavior? (Choose two.) 

A. A virtual link must be configured under R2 Area 0 and R4 Area 0. 

B. Area 10 must be configured as a stub area. 

C. A virtual link must be configured under R2 Area 0 and R4 Area 20. 

D. Area 10 must be configured as a standard area. 

Correct Answer: AD 
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